SOLVING SYSTEMS

Solve each system using any method.

Sx+2y=-1 5 Sx+4y=-1
x-y=-3 ' 4x-2y =4
3 3x-y=11 4 4x—-5y=-4
' x—y=17 ' 6x+10y =1
4x+y—z=10 2x+3y—-5z=-10
5. xX=2y+3z=-5 6. —3x+2y+z=2
2x—y+2z=-1 Sx—y+3z=13
X—y+z=6 x+2y+3z=11
7. x—-2y+3z=14 8. 3x—y+z=8
2x-y+2z=10 2x+2y-3z=-12
x +3y -z =1 2x +3z =8
9. 4x =Sy +2z =22 10. -y +2z =5
x =3y =4

-2x +3z =1



SOLVING SYSTEMS

Answers

712 1 2
C(-1,2 2. |—=,-= 3. (2,- 4. |-=,= . (2,-1,3
L (L2) (13, 13j (2,-5) (2,5j 5..(2,-1,-3)

6. (1,1,3) 7. (1,-2,3) 8. (1,-1,4) 9. (4,0,3) 10. (1,-1,2)



